


data SilverMaple; 
input GROWTH FERT $ FUNGUS $ TRT $; 
cards; 
18.5 Y Y YFE_YFU 
22.0 Y Y YFE_YFU 
14.0 Y Y YFE_YFU 
41.5 Y Y YFE_YFU 
32.0 Y Y YFE_YFU 
52.0 N Y NFE_YFU 
42.8 N Y NFE_YFU 
41.0 N Y NFE_YFU 
55.0 N Y NFE_YFU 
40.0 N Y NFE_YFU 
80.3 Y N YFE_NFU 
89.0 Y N YFE_NFU 
56.0 Y N YFE_NFU 
70.7 Y N YFE_NFU 
72.0 Y N YFE_NFU 
28.5 N N NFE_NFU 
46.0 N N NFE_NFU 
48.0 N N NFE_NFU 
60.0 N N NFE_NFU 
42.5 N N NFE_NFU 
; 
 
proc glm; 
class TRT; 
model GROWTH = TRT; 
lsmeans TRT / pdiff adjust=tukey cl; 
run;  
 
proc glm; 
class FERT FUNGUS; 
model GROWTH = FERT FUNGUS FERT*FUNGUS; 
lsmeans FERT*FUNGUS / pdiff adjust=tukey cl; 
run; quit; 


